Task 24.1. Analysing NILT. Using IBM SPSS Statistics 19 to produce frequency tables and measures of central tendency and dispersion.
In this task you are going to use the NILT06teach data set to answer the following two questions:

1 How many men and women were in the NILT 2006 survey?

2 How do the respondents describe the area in which they live?

We have provided a worked example of the IBM SPSS Statistics 19 commands to answer Question 1. Once you have completed this task you can use the same commands to answer Question 2.

· First open the NILT06teach data set.

· Now identify the relevant variable that will allow you to answer this question. You will need to refer to both the data file and the NILT questionnaire. Some variables are easier to identify than others; see Hint and Tip box 25.1: Finding Information on Variables and Hint and Tip box 25.2: Variable list display options. 

Biographical variables (age, gender, socio-economic status) are generally easy to find; however, other variables that relate to more detailed questions and those that are answered as a result of specific routing often require the researcher to look back at the original survey questions. This double-checking is particularly important if undertaking secondary analysis on data that you were not involved in the primary data collection of. It is all too easy to misinterpret variables taken out of the context of the original questionnaire and research methodology. Having identified the appropriate variable, you should run through the following checklist before undertaking any further analysis.

1 What is the level of measurement for the variable?

2 What are the categories and codes used?

3 Have missing values been assigned? If yes, is this due to routing – what does this mean for the total number of cases that are expected to have answered this question?

4 What is the appropriate analysis for this level of measurement? What measures of central tendency and dispersion should I be using?

For the Gender variable in NILT06teach the answers to the above checklist are:

1. Nominal
2. 1=Male; 2=Female
3. No. The survey was completed face to face and so gender was always recorded.
4.
 Mode.
IBM SPSS Statistics 19 command:

· From the Analyze menu select Descriptive Statistics and Frequencies. 

· In the Frequencies dialogue box highlight and move across the Gender of Respondent variable so that it appears under ‘Variable(s)’.

· Click on Statistics and under Central Tendency click in the box next to ‘Mode’. Click on Continue.
· Click on OK to execute the command.
In the output window you should have the following results displayed.

	Statistics

	Gender of respondent

	N
	Valid
	1230

	
	Missing
	0

	
	Mode
	2


	Gender of respondent

	
	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Male
	534
	43.4
	43.4
	43.4

	
	Female
	696
	56.6
	56.6
	100.0

	
	Total
	1230
	100.0
	100.0
	


· Now provide a written answer the original question of ‘How many men and women answered the NILT 2006 survey?’ 

You can now use the information in the worked example for Question 1 to answer Question 2.  Remember to check the level of measurement of this variable and select the appropriate measurements of central tendency and dispersion

